= ol O
A & 0l & AF S E M A
20128 20Ia L3 JIEISEEI 25t0= ~ 23012
SN 250
H: 2FAIL B35 Y =X FH(2IL2Y/2F00s)
chel: 230l Jlet &5 (ctel &9
- _ _ PSS
A -3 -H2A(SH) - HEAMY - BES O AF K Ol AF o8 HwsZ
230l = Dt 74,514,494 55,423,817 19,090,677
2 4,468,149
2 8,375,000
pJ 5,377,000
£ 668,000
Al 51,426,345
X 4,200,000
SIANL 25 L 232 BY(2HL2AZ/2502) 50,776,592 33,077,123 17,699,469
SNU=E : 230 T 2HE U 2JEFE A
2 1,618,670
2 8,375,000
pJ 5,377,000
£ 168,000
Al 31,087,922
X 4,200,000
23t0le Ol &5 19,419,400 6,966,000 12,453,400
SADXNE 1 24 HRAIY0SE AY BEES
YEE SEX : 2F 10 %
SDXE 2 23AIE 2 ARIRSE
SEE SHEX : 60.0 %
2 293,800
2 6,775,000
£ 168,000
Al 7,982,600
X 4,200,000
Az 2AL X 2,531,800 4,593,800 A2,062,000
2 168,000
Al 2,363,800
201 LeteH| 2,800 2,800 0
01 ArR2+2lt] 2,800 2,800 0
S A MG LY
70,0009 %102 »43] 2,800
203 Y2 EF| 6,000 6,000 0
03 AlBZ=ZGREZY| 6,000 6,000 0
SBIIBAILAHY YT 3,000
SAIYIF AY Y2 EX 2,000
ALY L2 FX 1,000
307 BI2+0IA 493,000 450,000 43,000
02 QIZHAANEX 493,000 450,000 43,000
IS A2 X 216,000
HUTAN2 22 X 186,000
HUTH2 UH2HMAH X 30,000
Fol2s2 X 57,000
Fo|2s2 29 U 38,000
Fol2st2 27l X 19,000




SN 2sH0E D
Hu: 2SAL S5 Y 22X BN (SHLDB/230)S)
Bl 20T DY 25 (2@ @
SA-ZH - S2A(3AH) - MEAME - HES Off &+ o4 %Eﬁiﬁ Blusz
SWE0IHE T2 X 30,000
SWE0IHE SAT 2L XS 20,000
UMEOIHE CAZ H2PUH X 10,000
Qurese 2ol Xg 20,000
OlFseste 23 X 20,000
SEUREAR 2 X 50,000
UUSD SAT 2YH XD 30,000
SMSHAEE 2 S XK 70,000
308 XHXIEHHISOIE 1,510,000 1,475,000 35,000
= 168,000
A 1,342,000
01 HASHBANRES 1,510,000 1,475,000 35,000
2zesa2 2N 500,000
NYSSEANY 29 - 85 X8 490,000
= 168,000
A 322,000
22 BBEHN HETYH X E 520,000
402 BI2EXHEZOIH 20,000 0 120,000
IEEEES 120,000 0 120,000
BUHCAHY FNDRH 7Y X 120,000
403 RHXIEHHIS KHE 01 400,000 1,465,000 1,085,000
01 KXISAX=RE 400,000 1,465,000 1,065,000
2ZESEB AlE HES 400,000
SAT OHBAIZL AT 843,600 786,200 57,400
2 293,800
A 549,800
308 XX EHHISOI N 843,600 786,200 57,400
2 293,800
A 549,800
01 RXIESHELRED 843,600 786,200 57,400
PR EH B HE 567,600
2 293,800
A 293,800
OIZI0ILHE A OIBAIR & 256,000
RIRAIY FE XSS (8TL) 1,845,000 1,586,000 259,000
z 876,000
A 969,000
308 XX EHHISOI X 1,845,000 1,586,000 259,000
z 876,000
A 969,000
01 HASHBAEES 1,845,000 1,586,000 259,000
HEUE M2 BTLAIY BEXS2 867,000
z 289,000




EA: S3t0l=1t
HM: SN =5 Y 232X SA (S22 /250 =)
o Estolz= Dler &5 (cte- &
S EH . S(BH) - NEAY - B2 0fl Ak o gggf; HDE2
Al 578,000
SIHEZ A2 BTLAIYE AEX=2 371,000
& 171,000
Al 200,000
CHHEAMZ BTLAIY EEXZ22 355,000
Z 164,000
Al 191,000
HAIEN=2ES BTLAIEY 252,000
Z 252,000
ANeieEes JE2s24d 25,000 0 25,000
= 25,000
308 AHXIEHHI SO A 25,000 0 25,000
2 25,000
01 AXSHMIMNEBEZ 25,000 0 25,000
Neies NEE3 HEE AFY 25,000
& 25,000
SA H2AIE D=2 HE 7,000,000 0 7,000,000
Z 2,800,000
Xl 4,200,000
403 MXISHHSA20|H 7,000,000 0 7,000,000
& 2,800,000
N 4,200,000
02 Z2J|&S0HICHSHHE AFS B 7,000,000 0 7,000,000
EA H2AIE Dl HE 7,000,000
Z 2,800,000
Xl 4,200,000
DAEAS HE 3,000,000 0 3,000,000
Z 2,000,000
Al 1,000,000
403 TR SHEX 20| & 3,000,000 0 3,000,000
3 2,000,000
Al 1,000,000
01 AXIEHMAE2EER 3,000,000 0 3,000,000
2AEN2 HE X 3,000,000
= 2,000,000
Al 1,000,000
E4 DICIHOIE”"H 2HE 1,124,000 0 1,124,000
Z 1,074,000
Al 50,000
201 Et23d| 50,000 0 50,000
02 B2 50,000 0 50,000
S4FOICIHOIE"Y H SH™ RS = 50,000,000 50,000
401 Al&HIZL 20| 1,074,000 0 1,074,000
Z 1,074,000
01 Al&H| 1,074,000 0 1,074,000




SH: 2a0=D
o 2SN HE L 2HEX FH(SALVB/230B)
ool 20l e 25 CEEEY
SA- BB O(3) - MRAY - BES 01l & 4 e CTImE=E]
F4 DICINOIE™”H HE 1,074,000
= 1,074,000
Co g2 MEd &d 3,000,000 0 3,000,000
403 XXX SA=01d 3,000,000 0 3,000,000
01 RXESHH X2 E 3.000,000 0 3,000,000
Col =23 MEE x4 3,000,000
o EX - CH 22 HE 50,000 0 50,000
401 Al&ZHI X2 0HHI 50,000 0 50,000
01 AlZHI 50,000 0 50,000
S SO SER Y )2 4y 89 50,000
SSUENE L NSEO =Y 31,357,192 26,111,123 5,246,060
ADXE 1 SHBA BRA G4 HA)
golild = SHX :83.63 %
SDXE 2 : ARl 23 BRS
gdoids SHX 123.0%
= 1,324,870
= 1,600,000
) 5,377,000
Al 23,005,322
H=ttd & X 3,147,000 3,219,000 A72,000
201 et 24,000 24,000 0
01 AHR2IH] 24,000 24,000 0
Eetetl 24 6,000,000 *47H 2 24,000
307 elztold 3,013,000 3,145,000 A 132,000
02 22t Ex 2,613,000 2,845,000 232,000
SeHH NB(RY, B 60,000
SHEUN LA (4E) 307,000
fg=st A& 52,000
SEH X 365,000
A= X2 98,000
Ol=X XI& 70,000
H215) SaT AlREH X2 30,000
H26sl SoHAE HlEH XE 30,000
H238l RUARBE KR 20,000
H28sl RUASHE X 4,000
2012 23ttlzgs NE 400,000
M9zl SA=HE X2 40,000
DH= d8F2 H133 RF2d4E33E N2 30,000
H293| RFaSAZHE X2 60,000
SA0EH 2012 X 200,000
s34 4HFH 2012 XA 70,000




2A: 230=0
I 2oAE 25 L 22T FH(SHLBL/2802)
el 23X 2 AMEA =i (ctel &
SN HB G (BH) - MRAY - BES 0l & e Hlm= 2
T Z29A - E =i’ N 20,000
SAFFCELGZLILAAERZ K& 150,000
=AY SEEFE N 50,000
Hssl dIFLEHSEHZAUS X2 30,000
HAESEAY OlEiE2% 2gdl XI& 80,000
Ol=29 Hel 29 XA 110,000
-2 HgEgEs XN&E 20,000
23Y Ol=dsd JHEl X& 7,000
=M NHEA 230 4ZXS 10,000
SALAZMOLEEIZ 43 N& 36,000
FES FAEH 2SINA 20,000
o2 stA AlA K& 35,000
2012 2us2d0=H XA 10,000
2012 =2 EZstEd X2 14,000
2012 B8H Hafen(& = AI2LSl QHLH) X & 42,000
20128 LMol K& 30,000
StHol R ZME XA 60,000
SAEAIS 409 A &2 XI& 13,000
FA=MESHM XA 30,000
o Eaxd0=H & N2 10,000
05 QIZtRIEZ 400,000 300,000 100,000
Sa0l=z 2 29H N 400,000
308 XX HHSO0IA 110,000 50,000 60,000
01 XN MBLEEXS 110,000 50,000 60,000
AMEDl=2& X3 60,000
Ns f=d&s2 29 X3 50,000
SR =M S 600,000 300,000 300,000
| 400,000
Al 200,000
307 gI2told 600,000 300,000 300,000
| 400,000
Al 200,000
02 2ItAASE X 600,000 300,000 300,000
FHUDIR=HSAH K& 600,000
Il 400,000
Al 200,000
oAt 43 N3 826,682 796,613 30,069
201 Let243| 139,800 139,800 0
01 AtE222/Hl 65,800 65,800 0
AEANM L HRED S KOl 4,000
SANZE}A IS 1A 3,000
SHAE APRIE I E 2,000
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M Z3t0=n
A 2SAL BE Y RN BN(2HUBY/2502)
tel: 23t=XE 2 AYEH =2 (etel: =3
_ _ MNuE o
SN H - SR(EH) - NPAMY - BES 0il & o e HlE2
= 500,000
Al 250,000
SoHIgel X2 3,000,000 1,000,000 2,000,000
& 1,500,000
Al 1,500,000
307 GI2t0I & 3,000,000 1,000,000 2,000,000
= 1,500,000
Al 1,500,000
02 BIAHANEX 3,000,000 1,000,000 2,000,000
2012 Satdodl Jh = 3,000,000
= 1,500,000
Al 1,500,000
el 243 N 408,500 328,500 80,000
207 AN 20,000 0 20,000
02 MAHEHI 20,000 0 20,000
S3XTEE FE2CIANAE 2= 20,000
307 QI2t0IA 60,000 0 60,000
02 QItaAaE X 60,000 0 60,000
2 =T 29 NA(ILZEXH) 60,000
308 AXIEHHSOIA 328,500 328,500 0
01 HXHHBLEdE2ES 328,500 328,500 0
AEZstoizns 22 22 X2 26,500
Zeote| Hich- & Ols2 294 N& 200,000
Fatsty 29 N 102,000
SA4IHSEIH(EX) 700,000 500,000 200,000
Il 300,000
Al 400,000
307 QI2t0IA 700,000 500,000 200,000
Il 300,000
Al 400,000
02 glt3aEx 700,000 500,000 200,000
SAa=HSAIH XA 700,000
Il 300,000
Al 400,000
S HMEE 400,000 300,000 100,000
Il 200,000
Al 200,000
307 QI2t0IA 400,000 300,000 100,000
Il 200,000
Al 200,000
02 QltaaEx 400,000 300,000 100,000
So=HEEM XA 400,000
Il 200,000
Al 200,000




2N 250a D

Mo 2HAL BE U 22X FA(SHLVB/2301B)

ool RS U AREC =0 CERE!
SA-EH O (B) - MRAIY - HY2 01l & 4 e HDS2
NEE B 3,878,270 3,890,270 A 12,000

201 2Bt 44,270 44,270 0

01 AtR2teldl 44,270 44,270 0
QAKX A5 SN SREEE MT 30,000
SHAXE S| 10,000
SNA REL 2F 4,270
23% 20,0002 +762 1,620
g3 50,0003 x55% 2,750

202 01t 4,000 4,000 0

03 =2AHR0HI 4,000 4,000 0
TESAAL JIGAY AL @O} 4,000

307 212t01d 3,830,000 3,842,000 A12,000

02 22t E X 1,780,000 1,642,000 138,000
H178) SABICHER JHE 1,200,000
138l FA=MSHAEE HE 400,000
2013 24k o0l =X A& 120,000
422 Sa=HAL2Il Hal Nzl 60,000

04 QUSHALE X 2,050,000 2,200,000 A 150,000
MBSl SAMAEREM HE(FHINFX) 1,000,000
K8zl SeltRM JH= 400,000
AT BB A L=H N 200,000
H73 SARHNHEHALE 200,000
NEEY I 250,000

frFHg= N 440,000 290,000 150,000
= 100,000
Al 340,000

307 glztold 200,000 200,000 0

02 2I2tHHE X 200,000 200,000 0
SATRXEH KB (2WHIX) 200,000

308 AXIEHHMSOIA 240,000 90,000 150,000
= 100,000
A 140,000

01 RASHBLLES 240,000 90,000 150,000
2ol =M X3 30,000
AOILIEF2S =M K& 30,000
RPN 30,000
LS o7 IREX N 50,000
=detd el =M XN 100,000
z 100,000

SUSHE B L KB (XHH) 8. 184,000 7,859,000 325,000
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SN 2st0Et
ZE: SSAE HE U =X FH(SHUDY/230Z)
Sl SHUBXY L ABIEN O (e &2
_ _ HE T
SN -3H - S2A(2AH) - NRAY - BE= Off &F OH Ofl At ot HusZ
307 BI2HOIF 160,000 160,000 0
| 80,000
Al 80,000
05 9I2t9IEr3 160,000 60,000 0
SAAZERN 2N 160,000
| 80,000
Al 80,000
SMESHE £ U N (EQAERXS00HY X| 76,000 76,000 0
2)
| 30,000
Al 46,000
307 BI2+0IF 76,000 76,000 0
| 30,000
Al 46,000
05 212913 76,000 76,000 0
ERas HSR&S00IY X 76,000
| 30,000
Al 46,000
SMSSHE £ L NV (P2I0tY 2201 042 150,000 180,000 £30,000
ERT-)
2 100,000
Al 50,000
307 BI2HOIF 150,000 80,000 £30,000
2 100,000
Al 50,000
05 SI2t9IEt2 150,000 180,000 230,000
220tet 20T OkelA A B X 150,000
2 100,000
Al 50,000
SMSSE £ L N (NASH0SIIE ) 200,000 200,000 0
o] 100,000
Al 100,000
307 BI2HOIE 200,000 200,000 0
| 100,000
Al 100,000
05 QI2relEra 200,000 200,000 0
NEEE TSI 200,000
| 100,000
Al 100,000
SASSHE £ U N (AT MESH T2 848,000 560,000 283,000
Y 2y
| 424,000
Al 424,000
307 BI2HOIF 843,000 560,000 283,000
| 424,000
Al 424,000




2N 280D
M 2oL 25 U 252X BM(SALDY/2E0E)
Sol: 20N L AIREO =) (erel: @2
_ _ SIEN
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
05 QI2tPIEera 848,000 560,000 288,000
TOF AFCH SHZZIY 29 848,000
p 424,000
Al 424,000
SASES 2o L N (AXNSA 2FEHE X 200,000 200,000 0
&)
p 100,000
Al 100,000
307 ©I2H0IM 200,000 200,000 0
p 100,000
Al 100,000
05 QIRtelera 200,000 200,000 0
ANEA SHBES X2 200,000
p 100,000
Al 100,000
SA2SE B L N (NA2E0E SHXH) 1,442,000 1,442,000 0
p 556,000
Al 886,000
307 ©I2t0I M 1,442,000 1,442,000 0
g 556,000
Al 886,000
05 QI2telera 1,442,000 1,442,000 0
X2ss SN 1,442,000
p 556,000
Al 886,000
SASSHTHE Eo U N (SSUR2HAIY ) 4,497,000 3,140,000 1,357,000
p 3,187,000
Al 1,310,000
307 ©I2t0IM 4,497,000 3,140,000 1,357,000
p 3,187,000
Al 1,310,000
05 QI2telera 4,497,000 3,140,000 1,357,000
SEHUIRHAY X 4,497,000
p 3,187,000
Al 1,310,000
SASEME 2o U (Y NA2SUHE DS 300,000 300,000 0
MY SN )
= 150,000
Al 150,000
307 ©I2t0I M 300,000 300,000 0
= 150,000
Al 150,000
05 DI2teIEta 300,000 300,000 0
ZoE NASAUEDSNAMEH SSX 300,000
= 150,000
Al 150,000
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SN 250s
DU NSSHVSD RE(SHLBT /S
ool HSRs M5 2E, R. 282N 22 EERE
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
A 969,900
01 MXSHIZEE 2,771,000 2,857,859 86,859
A HAYEX B SHAL 4,000
2 2,800
A 1,200
SN BAYET ETEUS B2IHAAY 4,000
2 2,800
A 1,200
SN PES HE FSAY 20,000
2 14,000
A 6,000
He2t 245y 693,000
2 346,500
A 346,500
34 BHIY| 2,000,000
2 1,400,000
A 600,000
SNME B 2E ¥ 280 89 50,000
2 35,000
A 15,000
SQSE2aN AAMHTE 72,933 116,000 56,933
2 103,760
A 69,173
308 XHXISHHISOIE 72,933 116,000 56,933
2 103,760
A 69,173
01 HASHBARES 72,933 116,000 56,933
OLF | ol bl X 72,933
2 103,760
A 69,173
s SEa2H N 69,373 130,735 761,362
2 41,683
A 27,690
308 XX EHHI S 01 & 69,373 130,735 ~61,362
2 41,683
A 27,690
01 MHXSHANEES 69,373 130,735 £61,362
S5 Szl 69,373
2 41,683
A 27,690
SHT ML HAIALY 7= 31,000 81,000 A50,000
2 21,700
A 9,300
308 XX EHHI S0l & 31,000 31,000 0
2 21,700
A 9,300
01 MHXESHPYEES 31,000 31,000 0




SA: 230E D
o NESHINSY 2E(SHLBZ/25M)
chel: MER3 W5 2E, R 28230 2 (el &
_ _ PSS
SH BB O(B) - NRAY - BAR Ofl &F o8 il ot o HDZ2
Stz SR L YMAIE X e 31,000
= 21,700
Al 9,300
HEAE 22FH| 765,000 262,500 502,500
2 510,000
Al 255,000
403 X XISHIS X 20| & 765,000 262,500 502,500
2 510,000
Al 255,000
01 KX 2LE 765,000 262,500 502,500
DISA HHEH AL 90,000
= 60,000
Al 30,000
HEA 2T 24 60,000
2 40,000
Al 20,000
HAYA HER2 24 90,000
2 60,000
Al 30,000
oAl 22X MHAZH 75,000
2 50,000
Al 25,000
HEAZ LHAAY 7= 450,000
2 300,000
Al 150,000
NRNZ25 T 24H| 5,993,257 4,820,000 1,173,257
= 500,000
Al 5,493,257
308 XHXIEHHISOIE 418,257 405,000 13,257
01 IXSHBANEEZ 418,257 405,000 13,257
S5 252l X 300,000
0 SIS 2A(=Z) QA 118,257
403 X XISHIS X 20| H 5,575,000 4,415,000 1,160,000
= 500,000
Al 5,075,000
01 RXESHMA2LE 5,575,000 4,415,000 1,160,000
23 2324 30,000
S5 SHHE 24 FH| 125,000
S (SHBBSH S 402) 20,000
ZoE IFHE B4 22,000
Sehsn B2 100,000
Ol W, WESHH o1&= 102,000
S 2 FH Zy| 255,000
2 Fl 34,000
FEHS SEHHIHE 2 40,000
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SN 2st0E
Y NESHVSD DE(SIAUBY/25)
ool HSRs M5 2E, R. 282N 22 (9l @8
SN EB -GS - MBAY - BES 0 & 24 e HRE2
308 XX EHHISOI X 714,925 474,450 240,475
01 RXESHBLRES 714,925 474,450 240,475
LS 5K 658,925
IS 2RE 1,000,000 372 122 +50% 222,000
2R 52 600, 000! *30%) * 12 50% 108,000
HaxD 400, 0002! #3712 50% 88,800
SRS 200, 0002 * 122 * 122 *50% 146,400
SR 150, 0002 +1,2272 ¥50% 92,025
S AL 200, 0002 * 1774 A +50% 1,700
M2 Jl2e W 6.000
N€gn 5504 29 X2 50,000
403 XX EHHIS XH2 0l ® 972,000 97,400 874,600
01 RXISH 22X 972,000 97,400 874,600
BaRISHER B 20,000
SgoIz0z N2 &1 900,000
IHUAH D 2ADLY AAED 20,000
SHSL RS 2A2YY AL 32,000
EELIENES 30,000 25,000 5,000
2 8,000
Al 22,000
307 BI2HOIE 30,000 25,000 5,000
2 8,000
Al 22,000
02 QAR 30,000 25,000 5,000
SRoIZ0SEH B X 30,000
2 8,000
Al 22,000
SAOIALSY 2otRE 602, 131 602, 444 A313
101 @121t 5,246 4,859 387
04 JIAHIERNS2S 5,246 4,859 387
NARIE HIBE (4%H) K2 XA
53, 1602 +302 +32 13 4,785
50282 461
ELEEREE
JIZH2ER L2EY 4,785,008 4. 5% 216
=]
JIZH2EX 225 4,785,008 1. 4% 67
MRS E
JIZH2Z X L2E 4,785,0002 %0.705% 34
ROIAAREHE
JIH2Z X LS B 4,785,0002 =2, 82% 135
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SN 2E0ED
HHM: MNES2[MsY B (2L 22 /25 )
ool AESS Ma HE, 8.282W 2o (el Ee)
SH-EH . O3 - MBAY - BAS 0f Ao Soe HRZ2
LOIEDIQABEE
JI2ZHHZ22 X HA 135, 000& *6.55% 9
201 dEt23d| 83,685 85,385 A 1,700
01 At22teldl 83,685 85,385 A 1,700
St 24 H2gs E2t 9,500& *700= 6,650
St 2L M29s @10 &2E 18,600
ANz 12,000& *1,3000H 15,600
== AIE 50,000& x15H x4H 3,000
SAASSAN M19E &2t 10,0003 *700% 7,000
SAMMNSEAN M2 HEHY 13,200
/D= 12,0003 *1000H 1,200
HAZ(Z42) 30, 000& *4000H 12,000
248 IBI2FEM H1A Z2F 12,0003 *800F 9,600
24A RHIESSEA M2 08 E 15,600
SN (HEME, A =TH Zg)
12,000& *1,3000H 15,600
SFEAHEM)ZAHA I2(=M)2Y 1,000
AMALRIE JIENE &L SAIS 50& *20, 0000H 1,000
St 24 H28s Y52 2,500& *6005 1,500
SAASEN M19E E52 2,500& *6002 1,500
248 FHESIEMN H1E EEE
2,500 *750% 1,875
AMAEZ2RAG 3+ 70,000& x 19 *23| 2,660
AMAEEZ U233 3o+
70,000& x5 *103] 3,500
X2 AL| 1,200
sSHYL | 1,200
AAHE & & 2 H 2F A 1,200
CHole S| 50,000& x2H x12& 1,200
o1 R Ij el 12,000
AR EAH| 12,000
2a 28U Ps=iE =8 =59 12,000
oI12+0| & 500,000
A2t E 2 500,000
CIXE SAIAISSIHE HEAY(BXEE) 500,000
MNIERLRIA2E 37,436
= 37,436
XX SRS 0l & 37,436
=2 37.436
AXNHMBIAEEZ 37,436
T2 SAUAIZRLRA 1A 37,436




SN
X XH .
S Tt

el

_ _ bSNE =
N33 . c2(3H) - NEME - HES agell oﬁ/?OH =&
= 37,436
Y22 £ HE 400,000 0 400,000
401 Al&HI LS 400,000 0 400,000
01 Al&H] 400,000 0 400,000
Bz X&) NS AAENH =AY 400,000
HMSAHH|(23ol=) (JIEH/DIE 255,553 254,071 1,482
23| 123,202 124,020 A818
A29H| 123,202 124,020 A818
101 Q1] 118,342 119, 160 818
02 JIEIRIB % 118,342 119, 160 A818
AMAFHE A SH o2 (K22 "L"Z, "U"S) 118,342
o= 101,755
“H R g
53,230,000 +(53,230, 000 *70%) 3. 5% 54,535
o SR
46,090,000 +(46,090, 000! x70%) *3. 5% 47,220
A2t 24 9,402
-HER LS
8,312 *48AI 2tx1H 122 %1.035 4,956
“HeEE O3
7,457 %48 A1 2+ 1H 122 *1.035 4,446
EsHg 1,680
—Hi 2 Xt 40,0002 x2H x 128 960
-2 =Hl= 20,0002 x3% x 128 720
XA SHH B X244 51,9902 x 1 x4 2 208
X o Z Al 130,000 x2H x 122 3,120
o D2 AHH 101,755,000 x70%+*11/360 2,177
204 E 243 AHH| 4,860 4,860 0
02 XZE X 4,860 4,860 0
A AFE R E 2 H| 2k & 4,860
SR L E 250,000 x1H «12& 3,000
SR O E 155,000 x 13 « 122 1,860
=23 132,351 130,051 2,300
JI=2&H]| 132,351 130,051 2,300
201 LEt2HH| 51,500 48,680 2,820
01 AFR2t2lH] 51,500 48,680 2,820
SN2Y Jl=242H 23,700
2l Sz 2 27,800
202 OfH] 66,051 63,171 2,880
01 2o 66,051 63,171 2,880
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SM: 280z
H 2

Ha: #HNSYAY (202D (IEHIIE
el J|= Y| (B9 &2
SA BB H(BH) - MBAY - B2 Ofl & o ggi HRs2
U 20| 48,240
ol 0! 17,811
203 YREXY| 10,800 14,200 A3,400
01 JIBSYAREAY| 6,600 10,000 A3,400
B2 gAREAY| 6,600
04 BASHAREAY] 4,200 4,200 0
SN2YYRE Y| 350,0002 *122 4,200
405 X&HE S 4,000 4,000 0
01 XYL SEFH S| 4,000 4,000 0
sS4 0IE0AE 2 DIZH BER 29 4,000
WRES (2SS (23 LB/25H02) 6,554,574 5,235,680 1,318,894
S HHIE 4,850,000 3,577,000 1,273,000
TESE P 4,850,000 3,577,000 1,273,000
309 HES 3,350,000 3,577,000 A227,000
02 BA- BHANFEZ 3,350,000 3,577,000 227,000
AOISI R 9lst 2y 3,350,000
404 BILTRHED 1,500,000 0 1,500,000
02 A BEHIEEE2 1,500,000 0 1,500,000
NEEE R 1,500,000
SEIE 1,704,574 1,658,680 45,894
SEXE 1,704,574 1,658,680 45,894
311 X 301Xt 8 204,574 158,680 45,894
03 E2BIIBRAUZ0IX A E 105,574 0 105,574
M2 AZ0lER 28( 129) 105,574
04 ELHLIABOIXIAE 99,000 158,680 A59,680
225 AY('BEE) 99,000
601 XUZRAZ A E 1,500,000 1,500,000 0
04 ZYWLIAIAZTHE 1,500,000 1,500,000 0
225 AY('BER) 1,500,000
DEWE NV (DS/ROLEESDS) 3,651,600 3,477,800 173,800
- iAgéé%ﬁé)mgmmﬁ N 2380t
= 325,800
Al 3,325,800
g X2 3,651,600 3,477,800 173,800
SBNE 1: ND 1Y BECHD HES
Sl SExl 1.2
=2 325,800
Al 3,325,800




M Z3t0=n
HH: WEHE X (Rs/R0t

He
Pl
O
oin
EJ
1o

ol wE XA (ctel: &
_ _ _ HET
A -3 -H2A(SH) - HEAMY - BES (il & OH Ofl At ot HwsZ
WSS MZ AILXIA 2,194,000 2,194,000 0
703 DERHSYIHNEES 2,194,000 2,194,000 0
01 DRUSYIHNHES 2,194,000 2,194,000 0
TRCAD X272 XY 440,000
SSEA2 2Hl X& 1,754,000
NAUHECTANZARY SH3AIY XA 570,000 420,000 150,000
703 DEHSYIHNEES 570,000 420,000 150,000
01 DRHISYIHNEES 570,000 420,000 150,000
g HEEA2 2 2435AE XIZ 420,000
AMOIHEMNZ2 X AE 22Hl K& 50,000
N2 M2 2L N 100,000
SNZ OH2AIZE A E 887,600 863,800 23,800
= 325,800
Al 561,800
703 DERHSYIHNEES 887,600 863,800 23,800
= 325,800
Al 561,800
01 DRHSYIANHES 887,600 863,800 23,800
nsd SN2 A2 AE 651,600
= 325,800
Al 325,800
OIRIOIXIZ A OIZAIZE F 236,000
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